L RYFRE
TA10V(S)O/31RFIEBHER

Variable Displacement Piston PumP TA10V(S)0O/31

#% & Overview

TA10V (S)OB1 R LEHERHARNERHEAHETER, ﬁnlJJinL
AMITENWALIT, SBREAFAXNEBERERINIZITR, KBS
T TIEE N T%28MPa,

TA10V(S)0O/31 series variable displacement piston pump swash plate axial plunger
variable pump,respectively for industrial use and for mobile machinery design, is
designed for open loop hydraulic driven design, adopts a shaft structure, rated
working pressure up to 28Mpa.

e Features
MIRMMELEL FROFENHE, BATRE % The capacity of the pump is in proportion to its rotating speed
ERATHIE, SWERTE; anddisplacement;the stepless adjustment of the displacement
N MBI, IR can be materialized by regulating the swivel angle of its swash
plate.

KARVFESIEITH T/EE N I1X28MPa;

* There are many variable control forms, Fast control response;

KBTS FEh OB R/EELE; % Allows for continuous operating pressures up to 28MPa;
IR ENEH LR A [ KR E S E % There are two shell discharge ports;
XEBIBMEN, TRRASE; % High power/weight ratio;

% The drive shaft is able to bear the axial and radial load;
% With through-shaft structure,able to form combination pump;

www.tot-hydraulics.com




1L HhiFRIE

RIS 512 Type Code
T AlOVS O 28 DR / 31 R — V P A 12 KB3
1 2 3 4 5 6 7 8 9 |10 | 11 12
1-T{£4 & Operating Medium
| %4 Mineraloil (42 No Code)
2 #5343 2 Machinery Classification
hEiEzE, f#x, FTEEE, T A Axial piston, swash plate design, variable, used in industry A10VS
WmEiEZE, fEX, TTE, 1TEVMA Axial piston, swash plate design, variable, used in industry A10V
3-iz17# 3 Operational Mode
FF=[E & Open circuit 0
4-#1& Size
A FRHEENominal displacement mUr | 18 |28 | 45 | 71 | 88 | 100140 |
532 # #1443 Control Devices
Hi#EEHl, WA Two point control,directly operated DG o o | o |0 0|0 @ DG
E 132 %l Pressure Control DR o o | 0o |0 | 0|0 o DR
T2 JE S132 %] Remote pressure control DRG o | o | 0o | 0o | 0|0 o DRG
EAifi == % Pressure and flow control DFR e | o | 0o| 0| 0|0 o DFR
JE /i E42 %] Pressure and flow control DFR1 e | o| o | ®©| | 0 | o DFR1
EH13h &4 Pressure and power control DLR ®© o | o | o 0|0 @ DLR
EhREI R
Pressure and flow and power control DFLR ° ® ® ® ° ¢ ° DFLR
6-%7%1 Series
31
7-HE77E ( MEH%E ) Rotating Direction(View on Shaft End)
I Bt $t Clockwise R
R4t Counterclockwise
8-#if Seals
THE#HENBR, i S5 A Shaftseal FKM
FRELVitonFKM v

El & BHChart shows: @ =] Afitt£Available, O=7E# & HIn preparation, —=7FNot available

www.tot-hydraulics.com




T HhiFRIE

9-%4#{# Shaft End

18 28 45 71 88 100 140
T4thMKeyedshaft DIN6885 o | o | 0o | 0| 0| o0 | o P
FiH F it HParallelshaft SAE withkey J744(1SO3019-1) ° ° ° ° ) ° ° K
e i# M Splinedshaft ANSIB92.1a, standard shaft 3/4" | 7/8" | 1" [11/4"(11/4"[1/2" 1| 3/4"| S
gt Similartoshaft S B BEHIRSNEE4E 3/4" | 7/8" | 17 |1 1/4"[11/4"] - - R
Lg% M Splinedshaft SAE - - _ _ 11/a" - W
10-%& 3£ % = MountingFlange 18 98 45 71 88 100 140
ISO 271 o | o e | o o | o - A
SAE 27 e | o | o  © |0 o - C
I1SO 47 - - - - - - B
SAE 47 - - - - - - D
11-T{Eih O Service Line Ports 18 28 45 71 88 100 140
Wim OSHE A M OBERM, SAEKRZ, AHIIEL e o | o o o | o o 12
Port S and port B at opposite sides,SAE flanged ,metric - - - PY PY - ~ | 42
W% ih OSFNE im OBTEAM, SAEX=, ZHIRL ° L4 ° L4 L ° ® | 62
Port S and port B at opposite sidesSAE flanged, UNC mounting bolts | _ - - Py PY - _ | o2
12-i@ IR 5h Through Drive 18 28 45 71 88 100 140
T i@ #HIR B0 Without through drive | ° | ° | ° | ° | ° | ° | ° | NOO
HIBHIEE) M RERERTIT
With through drive, the second pump connection dimension as follows
REEZ e AIHEZHMER
Mounting flange | Spline shaft The second pump
SAE82,27L U%#45/8in9T16/32DP TA10VS018/31 ° ° ° ) ) ) ® | Ko1
SAES82, 27L S##3/4in11T16/32DP TA10VS018/31 [ ] [ J (] [ ] [ ] [ ] ® | K52
SAE101,27L S#h7/8in13T16/32DP | TA10V028/31 e | o | o o | @ | o (K68
SAE101,27L Si47/8in13T16/32DP | TA10V028/31 ) ° ° ) [ ® | K02
SAE101,27L Si#H1in15T16/32DP TA10V045/31 ) ) ) ° ® | Ko4
SAE127,27. S#H1 1/4in14T12/24DP | TA10V071/31 ° ) [ ® | Ko7
SAE127,2%L S##1 1/2in17T12/24DP | TA10V0100/31 [ ] ® | K24
SAE152,47 Si#1 3/4in13T8/16DP | TA10VO140/31 ® | K17
S080, 27L S#43/4in11T16/32DP TA10VSO18/31 ° ° ° ) [ ) ® |KB2
S0100,27L S47/8in13T16/32DP TA10VS028/31 ) ) ) ) ° ® | KB3
1ISO100,27L SH11in15T16/32DP TA10VS0O45/31 ) ) ) ) ® | KB4
S0125,27L Sih1 1/4in14T12/24DP | TA10VS071/31 ) ) ) ® | KB5
1ISO125,27 S##1 1/2in17T12/24DP | TA10VSO100/31 [ ] ® | KB6
1ISO180,47L S#h1 3/4in13T8/16DP | TA10VSO140/31 ® |KB7
ISO 80,27L i 18 TA10VS018/31 ) ° ) ) ) ) ® | K51
SAE82,27l, 424 ¢ 19.05 TA10VS018/31 ) ) ° ) [ ) ® | K40
SAE100,27L E#H ¢ 19.05 TA10VS028/31 °® ° ° ° ) ® | K25

www.tot-hydraulics.com




T HhiFRIE

18 28 45 71 88 100 140

T i@ %38 5 Without through drive e[ e[ e e[ e e e N0
HIBHIR S, M RERERTIT

With through drive, the second pump connection dimension as follows

RIEE= Hhis AIEZ MR

Mounting flange | Spline shaft The second pump

SAE101,27L T h22.225 TA10VS028/31 - e | o | o | | @ | @ (KO3
ISO 100,27L T 25 TA10VS045/31 - - o | o | o | @ | @ [K2%
SAE101,27L FgEhh F25.4 TA10VS045/31 - - e | o | o | @ | @ [KO5
ISO 125,27 T 32 TA10VS071/31 - - - | e | @ | @ | @ |K27
SAE127,2% T Hthh31.75 TA10VS071/31 - - - | ®e| ®| @ | ® |KO08
ISO 125,271 TR 40 TA10VSO100/31 - - - - - e | ® |K37
SAE127,27L {5381 TA10VS0100/31 - - - - - ® | ® |K38
ISO 180,4 T 45 TA10VSO140/31 - - - - - - | ® |K59
SAE152,47 F4gthrha4.45 TA10VSO140/31 - - - - - - | ® |Ke1

BERIEH: HEARGESRE, MEMERERR—F, RAHER, BBRNEZERHTANE,

MRITMARR, BARNESAHE-ARNES+E_ARNESS,

Description of combination pump: Two pumps can be connedted in series by their head and end, namely integrated to

be a combination pump.by the means of through-shaft,and the se cond pump of the series combination is called the
subordinate pump.

In case of placing an order, the combination pump model equals to the model of the first pump + the model of the second.
AR5 R Fillllustration of combination pump model:0S4VS045 DR/31R-PPA12KB3+0S10VS028DR/31R-PSA12N00

A& Technical Data
WZ¥E Parameters Table

#ii%Size 18 28 | 45 71 88 | 100 140
HEEDisplacement Vgmax mL/r 18 28 45 71 88 | 100 140
RNH SIEH (X4 EST) BAKES) Psm bar 0.8
Pressure at suction Minimum pressure mn :
port S (Absolute AT S
pressure) Minimum pressure | Psmex | bar 10
BEHT)
HmMOBEA (434%F) |  Rated pressure Pn bar 280
Pressure at Outlet WA TR 7
port B (Absolute Peak pressure Prmax bar 350
pressure) TYNIS] - I
Minimum pressure

JE 1754k %  Rate of pressure change Ra bar/s 16000
WAL, L) CGEXETD
Drain port L, L1 pressure (Absolute pressure) P bar <2
Eaiﬁ%iﬁ" V=V, D No max i
Max. speed o= Vg max Ft r/min | 3300 | 3000 | 2600 | 2200 | 2100 | 2000 | 1800
Ps=1bar V= Vg max r/min | 3900 | 3600 | 3100 | 2600 | 2500 | 2400 | 2100
Max. flow N =No max CJvo max min | 59.4 84 117 156 185 200 252

n = 1500 r/minA¢ L/min 27 42 68 107 132 150 210

www.tot-hydraulics.com



T HhiFRIE

#igSize 18 28 45 71 88 100 140
HEEDisplacement Vgmax| mL/r 18 28 45 71 88 100 140
SIS n =ng maxft Pomax| KW | 27.7 39 55 73 86 93 118
Maximum power
(Ap =280 bar) n =1500 r/min B kw 12.6 20 32 50 62 70 98
HsE A p=280 bar B T max Nm 80.1 125 200 316 392 445 623
Torque
(Vg =Vgmax) A p=100 bar Bt T Nm 28.6 45 72 113 140 159 223
it P . Nm/rad | 13158 | 25656 | 41232 | 80627 | 80627 | 132335| 188406
Shaft extension P
LI
‘ Shaft extension S Nm/rad | 11087 | 22317 | 37500 | 71884 | 71884 | 121142 (169537
HEsE I W R
Torsional . Nm/rad | 14850 | 26360 | 41025 | 76545 | 76545 - -
stiffness Shaft extension R
ffE U . Nm/rad | 8090 16695 | 30077 | 52779 | 52779 | 91903 -
Shaft extension U
BfE K . Nm/rad | 13340 | 26189 | 43905 | 82112 | 82112 | 135303 | 196844
Shaft extension K
Tk R R B E )
Moment of inertia of the rotating assembly J kgm? | 0.00093 | 0.0017 | 0.0033 | 0.0083 | 0.0083 | 0.0167 | 0.0242
RARIEE
Max. angular acceleration rad/s? | 6800 5500 | 4000 | 3300 | 3300 | 2700 | 2700
FHER L 0.4 0.7 1.0 1.6 1.6 2.2 3.0
Volume of case
£
Weight kg 12 15 21 33 33 45 60
OREEHI SRR BB ) N 700 | 1000 | 1500 | 2400 | 2400 | 4000 | 4800
Drive shaft Max. axial force
Allowable load RREET N 350 | 1200 | 1500 | 1900 | 1900 | 2300 | 2800

1) Vg =Vgmax BFAOEEE A FWim OSH# OE S HPs = 1bar ( A33EH ) BAIIEH, il 0% 77Ps BEmsHEER,
WU AT RN, 2433 1% J109Ps min = 08barfd, HERBI/NEI%, Vo<Vomax BRI Al IR .
1) OnceVy = Vgmax, the value is applicable to the inlet pressure at suction port S is Ps = 1bar (absolute pressure),when the inlet

pressure Ps increase or decrease the displacement,the speed can be increased,when the inlet pressure Psmin=0.8bar,the speed
should be reduced to 90%.Vg<Vgmax value when the speed limit.

¥ K E% Technical Data

W2 FRE N SEFNE IR EhH4E Permissible input torque and through drive torque

1% Size 18 28 45 71 88 100 140
148 Torque
Tmax Nm 125 200 316 392 445 623
(VB AP=280barkt) 80
Temax Nm 88 137 200 439 439 857 1206
{1 Shaft P
¢ mm 18 22 25 32 32 40 45
BAEAGLE" Temax | Nm | 124 | 198 | 319 | 626 626 1104 | 1620
Max . input torque ™) | #f# Shaft S
$ in 3/4 7/8 1 11/4 11/4 11/2 13/4

www.tot-hydraulics.com




T HhiFRIE

}its Size 18 28 45 71 88 100 140
#14E Torque
(VomaxEL /A P=280 barfit ) Tmax Nm 80 125 200 316 392 445 623
Temax Nm 160 250 400 644 644 - -
Hhfi Shaft R
BrmAE" $ mm 3/4 7/8 1 11/4 11/4 - -
Max . input torque "
Temax Nm 104 145 212 433 433 750 1186
Hh{i Shaft K
$ in 3/4 7/8 1 11/4 11/4 11/2 13/4
th# ShaftS | Tomex | Nm 108 | 160 | 319 492 492 778 | 1266
RKRIBEHIREhHSE
Max . Through drive| ##f#i ShaftR |  Tomax Nm 120 176 365 548 548 - -
torque
il Shaft K |  Temax Nm 104 | 145 | 212 433 433 750 1186
1) ERTF LR EAERRIFESIE For drive shaft free of radial load
H%E4>% Torque Distribution
T, Ts

First pump

W% &l Hydraulic oil

TE#EESERE Operating viscosity range
ATHERENEMERSES, RINBEWEUATRETE
RIEFETIERE ( TERET )

For optimum efficiency and service life, we recommend

that the operating viscosity in the range of the following
best (at operating temperature)

BEE TR
Optimum operating viscosity vopt =16~36mm?%/s

FEESEEIRRS Limits of viscosity range

ERFIEEET, ERUTHE:

Under critical operating conditions the following values apply:
Vmin =10mm %s  42HFiE Short time (t<1min)

= RV Rt IR 90T

Max. permissible case drain temperature of 90°C

Vmax =1000mm%/s  #gHFiE Short time (t< 1min)
p<30bar, n<1000 r/min, 8 =-25C

==
Second pump

EEREHNEEED

Selection Considerations of hydraulic oil
ATEBRERORER, HARERNEEE FRHFNNT
1ERE (FXEE) . ET/ERECEMEERER, X
REREMETLE, BIERELER TREMMHESR,
SRR EZEATBNEENZN, FERLSTH
HRE, B2, HERETMBAIMNBEHREIEIT0TC,
AR KIBRM AR E— R L R Rt EE RS C AR,
Inorder to select the correct hydraulic oil. it must be determined
at ambient temperature within the tank temperature (open circuit).
Select the hydraulic fluid in the working temperature range for
optimum  viscosity range, it recommended to choose where
relevant, the higher viscosity grade.

The case drain temperature is influenced by pressure and input
speed and is always higher than the tank temperature. However,
any partof the piston temperature shall not exceed 90°C. The
fluid temperature in the bearing area is generally higher than the
average case drain oil temperature high around 5C

www.tot-hydraulics.com



T HhiFRIE

$2 413 8 Control Devices

1. BE##5%IDG Direct Control DG

B ER AOXEM— AN MBI E N ET ERIEBR/MER.
EHM T AT HEE, FENR/INNESH500ar, TE
ﬁRﬁEEngax'—SnginZIﬁ]fﬂ}ﬁo

R MOXENTIREASEABOBMERIIEENERE
%o

An external switching pressure canbe applied to Port X to
minimize the swivel angle of the variable pump. Control oil can
be supplied directly for the control piston under the necessary
minimum pressure of 50 bar. The variable pump can only be
shifted between Vgmax and Vgmin .

Note: the switching pressure needed at Port X is in direct

correlation with the actual working pressure of Pressure Port B.

2, EH#=4HIDR Pressure Control DR
ENEHERNEOENRBEE, ARTERIARBEER
SRPITTHRMENRERRE. HAENEES R ETR
’E,

The pressure control will keep the outlet pressure constant.
Therefore, the variable pump only delivers as much fluidas
required by the actuator elements of the hydraulic system.
The outlet pressure can be set through stepless adjustment
on the control valve.

& 140

#t& 18 ~ 100

3. IZFEEH3#=$IDRG Remote Pressure Control DRG
[EEEFIR I EE R EE SDRMR,, AIFEIMIIG— MR iR 5
i O XHRZESR SR R FE
HREAEEEDRGIE I ESSEE A,

The function and equipment of constant control is sImilar to
that of DR. The remote control can be realized by
connecting an external relief valve with Port X. Relief valve
is not included in the scope of supply for DRG control.

#Hg 140

#1& 18 ~ 100

www.tot-hydraulics.com




1T HhiFRIE

$24I3E Control Devices

4, ENREEHDFR/DFR1
Pressure and Flow Control DFR/DFR1

BT ESERITNEEZ SN, REvEHRER R RETHREL
EHTRELNEZHITET, TERRERERZHNHITT
HEREZENRE, FZTEENTUHZM, EHEHMLE
FimEEEl,
FREAEIEEDFR/DFRIIEHIMNEESER Z W,

DFR1$ZH B HH OX 5 RIEZ BRI TR FLEE A

In addition to the pressure control function, the outlet flow of
the pump can be adjusted by the differential pressure of the
throttle valve installed onthe oil supply pipe. The varlable
pump delivers the fluid needed by the actuator elements of
the hydraulic system and is free from the influence of the
changes in actual working pressure. Pressure control takes
precedence over flow control.

Relief valve is not included in the scope of supply for DFR/
DFR1 control.

The throttle orifice between Port X of DFR1 control valve and
the pump chamber is enclosed.

148 140 DFR1#Z il i T i FLE
#F& 18~100
O —
e R B
| A i
| F [:[:]i'.'_._. | g
L O | T
| J

L1 5

6. EFIhZ4=H Pressure and Power control DLR
xR G ARG R EIE4S], The control unit no flow control.

& 140

5. ENRENEEH DFLR
Pressure and Flow and Power Control DFLR

ATETEENEZUH TR TRSEEHIRSALE, BEHE
WHRE, EREMENNRRRFEE, RMEHIIERR
%'lEEO

TRER G R BT R T AR H th & AU T #EA T,
TiREAEEEDFLREHIFMSISEEZ M,

In order to gain constant driving torque under the working
conditions with changeable working pressure, the output flow
can be changed to keep the product of flow and pressure
constant, namely to keep the output powerful of the pump
constant.

Flow control can only be conducted below the constant power
control curve.

Relief valve is not included in the scope of supply for DFLR
control.

o
1% 140 m—n1
i - H
‘ | WA
L
‘B
& 28~100 O |
i TRE
; .
X B i |
1 T
ol "
s i
L
L1 ]
Nl
1% 28~100 e
L it e
T
l P = |
- _I_..
.I:_-‘I_. === = 3

www.tot-hydraulics.com



T HhiFRIE

SMER ST #4818 ABVE = ($ZHI#H#ADR. DRG. DFR/DFR1)
Dimensions size 18 Flange A (Control devices DR, DRG, DFR/DFR1)

v NG R 1 RESE B
' A e =
64, 108 e B :
| B3 - |
%E ke % g
IS0 3019-2 i %
i " = T 2 &
S !
(] @ } l
' |
1 @
11,5
-t L1
= i 145 2 9 1
| 195 L
'
w
i Shaft
S {EEEsE, 3/ in 11T 16/32DP" R SRS, 34 in 11T 16/32DP"™ U jEss, 5/8 In 9T 16/32DP"™
(SAE J744) (SAE J744) (SAE J744)
238
50 . S
i 14 |
. 14 i TR
8 g v
eh| % j
= L =
21- o J'JT ﬂ ) S
i q i
) e | 2 s Tl
] R315x 67 |
'F , DIN 332 s |1 i
il LTS > ]
1 /
‘ - 318 -
_'_'\_35_‘_
i# 0 Ports
B i O Outlet port 75=Flange SAE J518 3/4in ( #x/# %5l Standardseries ) #8£TFLFixing thread M10iR17
S i O Suction port & =Flange SAE J518 1in (#x# %%l Standard series ) #8$TFLFixing thread M10i®17
L ittt/ O Drain port M16 x 1.5%812
L1 ittt 581 O Drain port M16 x 1.5i%12
X 22438 O Control pressure M14 x 1.55%12
X1 #=#liHOControl pressure G1/4i®12FDG#z#lIFor DG Control

i RBRECEEFLOKLIO, BREERE,
Dependent on the installation position,port L or port L1 must be connected.

www.tot-hydraulics.com



T HhiFRIE

SMERST #4818 CBUE = (#=HI#4ADR. DRG. DFR/DFR1)
Dimensions size 18 Flange C (Control devices DR, DRG, DFR/DFR1)

6

G1/4in

(key width 6 )

i# O Ports

B HiM O Outlet port

S it A Suction port

L ittt 38 [ Drain port

L1 ittt 581 O Drain port

X 22413t [ Control pressure
X1 =45 OControl pressure

% =Flange SAE J518 3/4in ( #R/& %%l Standardseries ) #24TFLFixing thread 3/8—16UNC;20 deep
i£=Flange SAE J518 1in ( ¥R %&%!Standard series ) #2$TFLFixing thread 3/8-16UNC;20 deep
M16 x 1.5iR12

9/16-18UNF-2Bi® 12

M14 x 1.55R12

G1/4i®12fF DGz For DG Control

i REREMERFELOSLIO, BIUEERE,
Dependent on the installation position,port L or port L1 must be connected.

www.tot-hydraulics.com



T HhiFRIE

SMERST #Hg28 ABVE= ($ZHIHHADR. DRG. DFR/DFR1)
Dimensions size 28 Flange A (Control devices DR, DRG, DFR/DFR1)

= v raliogagindigio
s 1" L
g I 0 s .__B R RETE
i < T LiX '-\ 3
ISO 3a019-2 . L ! -
LA, e 8 2 | =
| 0 N \ i 1‘ e
2 2 - i \ @ 7w E
- | _ =
g £ | | =10k
= p—g & y I
i ]
[ | |
4 it
401 464 &
206
w s
il Shaft
S dEEE, 7/8in 13T 16/32DPY R 44, 7/8 in 13T 16/32DP"™™ U fEE%, 3/4in 11T 16/32DPY
(SAE J744) (SAE J744) (SAE J744)
33.1 & 16 ¥
e m o
F‘E 16 e o
' 5 s 21- Ex
g 2 = \
=2 1 o g j
§ == +1 ' -
=D "i = i
| 1Y
7| | BRI / ll
25.1 | S— ]
| / '
| a8
ifi0 Ports
B Hif A Outlet port i&=Flange SAE J518 3/4in ( #xi# Z# %l Standardseries ) #£T#LFixing thread M103%&17
S % i#1 O Suction port i&=Flange SAE J518 1 1/4in ( #x# % 5| Standard series ) #8247 fLFixing thread M10iR17
L 3tttifh A Drain port M18 x 1.5iR12
L1 ittt i A Drain port M18 x 1.5i812
X #2413t 0 Control pressure M14 x 1.55812
X1 $=#lH O Control pressure G1/4i# 12 F DGz #IFor DG Control

i RIBREMBEELOKLIO, BIEEBE.
Dependent on the installation position,port L or port L1 must be connected.

www.tot-hydraulics.com




T HhiFRIE

SMEZRT #iH28 CBYE = ({ZHI#L#3DR, DRG. DFR/DFR1)
Dimensions size 28 Flange C (Control devices DR, DRG, DFR/DFR1)

34

i# O Ports

B Hif A Outlet port

S g i O Suction port

L ittt 38 [ Drain port

L1 ittt O Drain port

X #2213 0 Control pressure
X1 #4480 Control pressure

119.3

i£ZFlange SAE J518 3/4in ( ¥R#t &%l Standardseries ) #2$TFLFixing thread 3/8—16UNC;20 deep
75 =Flange SAE J518 1 1/4in ( #7/ %%l Standard series ) #24TFLFixing thread 7/16-14UNC;24 deep
M18 x 1.5i%12
3/4-16UNF-2BiR 14
M14 x 1.5i%12
G1/4i®12FFDG#z#IFor DG Control

i RIBREMEERFLOKLIO, SREERE,
Dependent on the installation position,port L or port L1 must be connected.

www.tot-hydraulics.com



T HhiFRIE

SMERST #1428 Dimensions size 28

=HRKXDG ITEHmA12 EHAEKDG TEHON
Control devices DG port 12 Control devices DG port 11
106.5
#=#HIEXDFLR. DLR T{EHmO12 #=HEKDFLR. DLR T{EHO11
Control devices DFLR, DLR port 12 Control devices DFLR, DLR port 11

IEmO11 (#=H#HMADG, DFLR, DLR) port 11 ( Control devices DG,DFLR, DLR )

www.tot-hydraulics.com




T HhiFRIE

SMERST #Mltg45 ABYE = ($2HI#14DR. DRG. DFR/DFR1)
Dimensions size 45 Flange A (Control devices DR, DRG, DFR/DFR1)

i# O Ports

B Hih O Outlet port

S R if O Suction port

L ittt i A Drain port

L1 itttjl FDrain port

X 22413 O Control pressure
X1 #=4l5H O Control pressure

$%=Flange SAE J518 1in (#x/# %l Standardseries ) #24T¥LFixing thread M10i®17
i£=Flange SAE J518 1 1/4in ( #r# %% Standard series ) #2£TFLFixing thread M12i%&20
M22 x 1.5i%14

M22 x 1.5i% 14

M14 x 1.55%12

G1/4i® 12 FDG3=HFor DG Control

i RIBREMEBRFELOSLIO, BREEBHE,
Dependent on the installation position,port L or port L1 must be connected.

www.tot-hydraulics.com



T HhiFRIE

SMEZRT #4845 CBIE = (1ZHIHL43DR. DRG. DFR/DFR1)
Dimensions size 45 Flange C (Control devices DR, DRG, DFR/DFR1)

TEmO12 (#=H#14DG. DFLR. DLR) Port 12 (Control devices DG, DFLR, DLR)

i1 Ports

B Hit O Outlet port

S % 3 Suction port

L ittt 38 [ Drain port

L1 ittt it [ Drain port

X #224i138 O Control pressure
X1 #=4l5H O Control pressure
i

i£ZFlange SAE J518 1in (#x/# %%/ Standardseries ) #24T¥LFixing thread 3/8-16UNC;18 deep
%2 Flange SAE J518 1 1/2in ( #x# % % Standard series ) #24T#LFixing thread 1/2-13UNC;22 deep
M22 x 1.5i%14

7/8—14unf-2Bi& 16

M14 x 1.55%12

G1/4i% 12 FDG=#IFor DG Control

s R\REMEEFLOSLIO, BHRERERE,
Dependent on the installation position,port L or port L1 must be connected.

www.tot-hydraulics.com




T HhiFRIE

5 MR~ Dimensions

ERIBADG TIEHmO12 EHRBKDG TIEmO1
Control device DG port 12 Control device DG port 11
E=HIZXDFLR, DLR T{EmMA12 #EHIEKXDFLR, DLR T{E@HO11
Control device DFLR, DLR port 12 Control device DFLR, DLR port 11

TiEMO11 ($=#I¥1#DG. DFLR, DLR) port11 (Control devices DG,DFLR, DLR)

www.tot-hydraulics.com



T HhiFRIE

SMERSE #4571 ABYE = (#2HI#14ADR. DRG. DFR/DFR1)
Dimensions size 71 Flange C (Control devices DR, DRG, DFR/DFR1)

- 161 g 4
6| 115
&=
ISO 3019-2 I
g 3
=T H
s 1
g '
'] =
1 L 2
18 | =
V a1 BB E
52.4
_[ 225
Hifd Shaft

S IEERsE, 1 1/4 in 14T 12/24DPY
(SAE J744)

47.5
§ 19
| al _-6 .
§ __\EL(LI
=y b -
mssi===
& — 11N
|
I|
| 385 |
55.4

# 0 Ports

B H il O Outlet port

S it A Suction port

L ittt 38 M Drain port

L1 it HDrain port

X $2241l3f O Control pressure
X1 #=#l5H O Control pressure

R {825, 11/4in 14T 12/24DP'2 U E8%, 1in 15T 16/32DP"
(SAE J744) (SAE J744)

& .

2] 19 m

& i)

£ || 3

2| 8 i

i1 ; e I _r

- = ¥

sl = 11

1

AR _|

i£=Flange SAE J518 1in ( #x# %5l Standardseries ) #8$TFLFixing thread M10iR17

i£=Flange SAE J518 2in ( #x# % 5lStandard series ) #8$TFLFixing thread M12i£20
M22 x 1.5i%14

M22 x 1.5i%14
M14 x 1.5i%12
G1/4iR 12 FDGI=HFor DG Control

i RIBEREMBEELOKLIO, SREERE,
Dependent on the installation position,port L or port L1 must be connected.

www.tot-hydraulics.com




T HhiFRIE

SMERST #4871 CEBUE = (#=HIH14ADR. DRG. DFR/DFR1)
Dimensions size 71 Flange C (Control devices DR, DRG, DFR/DFR1)

T1EmE42 (=#I##DG, DFLR. DLR) port42 (Control devices DG,DFLR, DLR)

i@ E Ports

B Hih 0 Outlet port 3% =Flange SAE J518 1in (R %%l Standardseries ) #2$TFLFixing thread 3/8-16UNC;18 deep
S %3 A Suction port i£=Flange SAE J518 2in ( #R# %%l Standard series ) #2%TFLFixing thread 1/2-13UNC;22 deep
L ittt i A Drain port M22 x 1.5 14

L1 ittt i [ Drain port 7/8-14UNF-2BiR 16

X #2438 O Control pressure M14 x 15512

X1 #=4lif 0 Control pressure G1/4%12FFDG3= | For DG Control

i RIBREMEBRFELOSLIO, BREEHE,
Dependent on the installation position,port L or port L1 must be connected.

www.tot-hydraulics.com



T HhiFRIE

SMERST #1471 Dimensions size 71

ERIBADG TIEmO42 EHRBEKDG T{EhO41
Control device DG port 42 Control device DG port 41
131
EHIEKDFLR, DLR T{EimMO42 #ZEHIEKDFLR, DLR T{EHO41
Control device DFLR, DLR port 42 Control device DFLR, DLR port 41

TiEMmO41 ($=#I¥#DG. DFLR. DLR) port11 (Control devices DG,DFLR, DLR)

www.tot-hydraulics.com




T HhiFRIE

SMERSE #145100 ABYiE = (#2HI#14DR. DRG. DFR/DFR1)
Dimensions size 100 Flange A (Control devices DR, DRG, DFR/DFR1)

127,

ol bR gy -2 bR

Fr 6.
1SO 3019-2 -

ol ke i

=
¥
o
E
% E
317
& 329 al
A 18 | 148.4
w L 1649
W A R EE
i
i
o 8
28
t|
!
il Shaft
S FEESE, 11/2in 17T 12/24DP" U FE4%h, 1 1/4 in 14T 12/24DPY W IEEREE, 1 1/4in 14T 12/24DP"@
(SAE J744) [SAE J744) (SAE J744)
5 5 -
Ny |- 8 5
o) ) o)
= | - = =z
= = o
2 a 2
& @ i
=i ol &l
TS
if 0 Ports

B Hi3l O Outlet port
S % it A Suction port
L ittt [ Drain port
L1 itttjl FDrain port

X 22413 O Control pressure
X1 #=4l5H O Control pressure

iE=Flange SAE J518 1 1/4in ( & E & %High-pressure series ) #8$TFLFixing thread M14i£19
£ =Flange SAE J518 2 1/2in ( #x# %7l Standard series ) #2$TFLFixing thread M12i§17

M27 x 2iR 16

M22 x 216

M14 x 1.55%12

G1/4i® 12 FDG3=HFor DG Control

i RIBREMEBERFELOSLIO, SAUERERA,

Dependent on the installation position,port L or port L1 must be connected.

www.tot-hydraulics.com



T HhiFRIE

SMERSE #145100 CELE = (#2%I4143DR. DRG. DFR/DFR1)
Dimensions size 100 Flange C (Control devices DR, DRG, DFR/DFR1)

TeEmO12 (#=#H#14#DG. DFLR. DLR) Port 12 (Control devices DG, DFLR, DLR)

12.7 il:oeag 08 7
LA g Sk
ISO 30191
1 | - 2
. g-l = E' - E
== o %
gl [ o s Pt
i !
1 ey
1 (a5
20
e 8
L m8 | wsa _
- 164.9
W EHE
)
o
2§
$1§ Shaft
P FgEH DING8BBS, A12x8x68 K F4#%, Parallel with key 1SO 3019-1 38-1
70
-—
L 895 _ 83738 006(1.5]_2.05(52.1)
| =8 T — S ]
—t et .. o Es =0
eyl #¢ [ \ e §$‘ 3| |
g 23 ,@T—-IED' A = B =
% 3 ==~ £ [1ag Lo
: & |' 2,14 (54)
Al 2.44 (61.9)]
i 0 Ports
B Hifh A Outlet port i&E=Flange SAE J518 1 1/4in ( & E & %IHigh—pressure series ) #8$TFLFixing thread 1/2-13UNC;19 deep
S MR it A Suction port iEZFlange SAE J518 2 1/2in ( #R#E &%l Standard series ) #8$TFLFixing thread 1/2-13UNC;27 deep
L ittt i O Drain port M22 x 1.5iR14
L1 3tttif A Drain port 7/8-14unf-2BiR 16
X 2213 O Control pressure M14 x 1.55812
X1 #=#liH OControl pressure G1/4iR 12 FDG#z#IFor DG Control

i RIBREMEBEFLOSLIO, SAZEERE,

Dependent on the installation position,port L or port L1 must be connected.

www.tot-hydraulics.com




T HhiFRIE

SMERSE #1#100 Dimensions size 100

ERIBADG TIEHmO12 EHRBKDG TIEmO1
Control device DG port 12 Control device DG port 11
EHIEKDFLR, DLR T{EmO12 #EHIEKXDFLR, DLR T{E@HO11
Control device DFLR, DLR port 12 Control device DFLR, DLR port 11

TiEMO11 ($=#I¥1#DG. DFLR, DLR) port11 (Control devices DG,DFLR, DLR)

www.tot-hydraulics.com



T HhiFRIE

SMERST 148140 BEUE= (#=HI4143DR. DRG. DFR/DFR1)
Dimensions size 140 Flange B (Control devices DR, DRG, DFR/DFR1)

@O Ports

B Him O Outlet port

S it A Suction port

L ittt 38 M Drain port

L1 ittt 581 O Drain port

X $2241l3f O Control pressure
X1 #=4%il3H 0 Control pressure

@18

£ =Flange SAE J518 1 1/4in ( & E %&%High—pressure series ) #2$TFLFixing thread M14i&19
£ Flange SAE J518 2 1/2in ( #R#t %%l Standard series ) #2$TFLFixing thread M12i§17

M27 x 2ik16

M27 x 2R 16

M14 x 1.5i12

G1/4iR 12 FDGI=HFor DG Control

i REREMERFELOSLIO, BIUEEBRE,
Dependent on the installation position,port L or port L1 must be connected.

www.tot-hydraulics.com




T HhiFRIE

SMERST #14%140 DBYE = (#2HI#143DR. DRG. DFR/DFR1)
Dimensions size 140 Flange D (Control devices DR, DRG, DFR/DFR1)

TiEmA12 ($=#/#414DG,. DR, DFLR, DLR) port 12 (Control devices DG,DR,DFLR, DLR)

IEmO11 (#=#H##DG,. DR, DFLR. DLR) port 11 (Control devices DG,DR,DFLR, DLR)

i1 0 Ports

B H 80 Outlet port i£=Flange SAE J518 1 1/4in ( &§JE & %High—pressure series )#25TfLFixing thread 1/2-13UNC;24 deep
S %8 A Suction port i%=Flange SAE J518 2 1/2in ( #r/# %%l Standard series ) #2£TfLFixing thread 1/2-13UNC;24 deep

L ittt O Drain port M27 x 2iR16

L1 ittt i A Drain port 1 1/16-12UNF-2BiR18

X $2241l3f [ Control pressure M14 x 1.55812

X1 #224i13f A Control pressure M14 x 1.5i% 12 FDG3#= % For DG Control

i RFEREMERFLOSLIO, SBAUEEBRE,
Dependent on the installation position,port L or port L1 must be connected.

www.tot-hydraulics.com



T HhiFRIE

SMERST #14#8140 Dimensions size 140

ERIBADG TIEHmO12
Control device DG port 12

EHRBKDG TIE/mO11
Control device DG port 11

108
112

#=#HAXXDR, DRG I{EimO12
Control device DR, DRG port 12

244

#EHAXDFLR, DLR I{EimO12
Control device DFLR, DLR port 12

#=HAXDR, DRG I{EimO11
Control device DR, DRG port 11

#=HADFLR, DLR IL{EimO11
Control device DFLR, DLR port 11

www.tot-hydraulics.com




T HhiFRIE

i@ R~ Dimensions,, throug drive

%2 Flange ISO 3019—1(SAE) | 7&#Hub for splined shaft’ M5 Availability over sixes RS
E1ZDiameter Symbol H 1% Diameter 18 | 28 | 45 | 71 | 88 | 100 | 140 | Code
82-2 | (A) %op 5/8fn 9T16/32DP | @ | @ | @ | @ | @ | @ | @ K01
3/4 in 11T16/32DP | @ | @ | @ | @ | @ | @ | @ K52
® = Available - = Not available
K01 NG | A1 | A2 | A3 A4?
18 | 182 | 10 |43.3 | M10x1.5;14.5 deep
28 | 204 | 10 |33.7 | M10x1.5;16 deep
45 | 229 |10.7 | 53.4 | M10x1.5;16 deep
(SAE J74416-4(A) | 71 | 267 [11.8[61.3| M10x1.5;20 deep
88 | 267 |11.8|61.3| M10x1.5;20 deep
100 | 338 |10.5| 65 | M10x1.5;16 deep
140 | 350 |10.8 | 77.3 | M10x1.5;16 deep
K52 NG | A1 | A2 | A3 A4
18 | 182 [ 18.8 | 38.7 | M10x1.5;14.5 deep
28 | 204 |18.8|38.7 | M10x1.5;16 deep
45 | 229 |18.9|38.7 | M10x1.5;16 deep
(SAE J74419-4(A-B))| 71 | 267 |21.3 |41.4| M10x1.5;20 deep
88 | 267 |21.3|41.4| M10x1.5;20 deep
100 | 338 | 19 |38.9| M10x1.5;16 deep
140 | 350 |18.9|38.6 | M10x1.5;16 deep
% 2Flange ISO 3019-1(SAE) | 7£%Hub for splined shaft’ GH S Availability over sixes RE
HEf&DiameterSymbol H 1% Diameter 18 | 28 | 45 | 71 | 88 | 100 | 140 | Code
01-2 | (a) R poe 7/8in 13T16/32DP| - | @ | @ | @ | @ | @ | @ K68
1in 15T 16/32DP - | e | e | e | e | @ K04
® = Available - = Not available
K68 NG | A1 | A2 | A3 A4?
28 | 204 |17.8|41.7 M12x1.75
45 | 229 |17.9|41.7 | M12x1.75;18 deep
(SAEJ74422-4(B) | 71 | 267 |20.3|44.7 | M12x1.75;20 deep
88 | 267 |20.3 | 44.7 | M12x1.75;20 deep
100 | 338 | 18 |41.9 | M12x1.75;20 deep
140 | 350 |17.8 | 41.6 | M12x1.75;20 deep
K04 NG | A1 | A2 | A3 A4?
45 | 229 |18.4 | 46.7 | M12x1.75;18 deep
71 | 267 |20.8 | 49.1 | M12x1.75;20 deep
(SAEJ744 25-4(B-B))| 88 | 267 [20.8 | 49.1 | M12x1.75;20 deep
100 | 338 |18.2 | 46.6 | M12x1.75;20 deep
140 | 350 |18.3 | 45.9 | M12x1.75;20 deep

1)30° EHf, FHER, MAGRE, AZ%%K5 According to ANSIB92.1a,30° pressure angle, flat root, side fit,tolerance class 5
2)%F & DIN13H#24L Thread according to DIN 13

www.tot-hydraulics.com



T HhiFRIE

% ZFlange ISO 3019-1(SAE) | £ Hub for splined shaft’ @AM Availability over sixes =
H {ZDiameterSymbol H f£Diameter 18 | 28 | 45 | 71 | 88 | 100|140 | Code
1 1/4in 14T12/24DP| - | - | - | @ | @ | ® | ® Ko7
127-2| (¢) Poo
11/2in |17T12/24DP| - | - | - | - | - | @ | ® K24
@® = Available - = Not available
K07 NG | A1 | A2 | A3 A4?
71 | 267 |21.8|58.6 M16x2
88 | 267 |21.8|58.6 M16x2
(SAE J744 32-4(C))
100 | 338 |19.5 | 56.4 M16x2
140 | 350 |19.3|56.1 | M16x2;24 deep
K24 NG | A1 | A2 | A3 A4?
100 | 338 |10.5| 65 M16x2
(SAE J744 38-4(C-C))
140 | 350 | 7.9 | 73.3| M16x2;32 deep
#%2Flange ISO 3019-1(SAE) | 1 #Hub for splined shaft’ EHIM S Availability over sixes =
H12DiameterSymbol H 1£Diameter 18 | 28 | 45 | 71 | 88 | 100|140 | Code
152-4| () o] 1 3/4in 13T816DP | - | - | - | - | - | - | o K17
63-4 23 Metric keyed shaft @5 - ° ° ° ° ° ° K57
® = Available - = Not available
K17 NG | A1 | A2 | A3 A4?
(SAE J744 44-4(D)) | 140 | 350 | 11 | 77.3 M16x2
K57 NG A1 A2 A3 A4 A5
28 232 8 10.6 | 58.4 | M8
45 257 8 11 81 M8
71 283 8 125 | 77 | M10
(4-hole flange)
88 283 8 12,5 | 77 | M10
100 | 354 8 10.5 | 81 | M10
140 | 366 8 11 93 M8

1)30° EHfa, FiER, MEEE, AZEZ%K5 According to ANSIB92.1a,30° pressure angle, flat root, side fit,tolerance class 5
2)#&DIN13E#24r Thread according to DIN 13

www.tot-hydraulics.com



T HhiFRIE

% =Flange ISO 3019-1(SAE) | #£%Hub for splined shaft’ &M 245 Availability over sixes (=7
E&DiameterSymbol H 1% Diameter 18 | 28 | 45 | 71 | 88 | 100 | 140 | Code
Sood 3/4in 11T16/32DP| © | ®© | @ | @ | ®@ | ®@ | @® KB2
80 |2-hole

100 2_hloe s 7/8in 13T 16/32DP - [ [ [} [ ] [ ] [ ] KB3
1in 15T 16/32DP | - - ) ) ® ® ) KB4

® = Available - = Not available

KB2 NG | A1 | A2 | A3 A4

18 | 182 |18.8 | 38.7 | M10x1.5;14.5 deep
28 | 204 |18.8 [38.7 | M10x1.5;16 deep

45 | 229 (18.9(38.7 | M10x1.5;16 deep
(SAE J74419-4(A-B))| 71 | 267 |21.3|41.4| M10x1.5;20 deep
88 | 267 [21.3 |41.4| M10x1.5;20 deep
100 | 338 | 19 |38.9 | M10x1.5;20 deep

140 | 350 | 18.9 | 38.6 | M10x1.5;20 deep

KB3 NG | A1 | A2 | A3 A4”
28 | 204 |17.8 | 41.7 M12x1.5;
45 | 229 |17.9|41.7 M12x1.5;

71 | 267 |20.3 | 44.1 | M12x1.5;20 deep
88 | 267 [20.3 | 44.1 | M12x1.5;20 deep

(SAE J744 22-4(B))

100 | 338 | 18 |41.9 | M12x1.5;20 deep

140 | 350 |17.8 |41.6 | M12x1.5;20 deep

KB4 NG | A1 | A2 | A3 A4?

45 | 229 |18.4 | 46.7 M12x1.75

71 | 267 |20.8 | 49.1 | M12x1.75;20 deep
(SAE J744 25-4(B-B))| 88 | 267 [20.8 | 49.1 | M12x1.75;20 deep
100 | 338 |18.2 | 46.6 | M12x1.75;20 deep

140 | 350 | 18.3 | 45.9 | M12x1.75;20 deep

1)30° EHfE, FHER, MAERES, AZE%%K5 According to ANSIB92.1a,30° pressure angle, flat root, side fit,tolerance class 5
2)#F & DIN13HI424L Thread according to DIN 13

“ www.tot-hydraulics.com



T HhiFRIE

#% 2Flange ISO 3019-1(SAE) | /£##Hub for splined shaft’ EHMS  Availability over sixes RE
H {ZDiameterSymbol H {£Diameter 18 | 28 | 45 | 71 | 88 | 100 | 140 | Code
11/4in 14T 12/24DP | - - - | e | e | @ | @ KB5
125 |2-hole oo .
180 2_hloe 11/2in 17T 12/24DP - - - - - [ ] [ ] KB6
2 13/4in 13T 8/16DP | - - - - - -l @ KB7
® = Available - = Not available
KB5 NG | A1 | A2 | A3 A4”
71 | 267 |21.8|58.6 M16x2
88 | 267 |21.8|58.6 M16x2
(SAE J744 32-4(C))
100 | 338 | 19.5 | 56.4 M16x2
140 | 350 |19.3|56.1 | M16x2;24 deep
KB6 NG | A1 | A2 | A3 A4”
100 | 338 |10.5| 65 M16x2
(SAE J744 38-4(C-C))
140 | 350 | 7.9 | 73.3| M16x2;32 deep
KB7 NG | A1 | A2 | A3 A4”
(SAE J744 44-4(D)) | 140 | 350 |11.3|77.3 M16x2”

1)30° EHfE, FHER, MAERES, AZE%%K5 According to ANSIB92.1a,30° pressure angle, flat root, side fit,tolerance class 5

2)#F & DIN13HI424L Thread according to DIN 13

www.tot-hydraulics.com




